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Standard & Point-Slope Forms - NOTES Date

Standard Form

A
1) General Standard Form: - SLFE= = oo s
P\ >4 _\_B% = C K g ._l:)
&

Write the standard form of the equation of the line through the given point with the given slope.
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Write the standard form of the equation of each line. Q @Si‘)
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Sketch the graph of each line.

10) 7x + 4y =-8 11) 4x+y=3
Ay Ay
R
N .
¥ I 4-3-2!(‘ i
\\

-

% StoRe: — %

H ‘ﬁ’-\y\s\’ <>(fc737
o)UY=
O+ q%:—g
el

12) 3x - 25—

Ay
d o
4 e
T 3
EEEEEF4 “x % 5 4 b
) 4
i
/ 4




Point-Slope Form

14) General Point-Slope Form:
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Write the point-slope form of the equation of the line through the given point with the given

slope.
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Write the point-slope form of the equation of each line.
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Sketch the graph of each line.
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